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SN BRI
mE: X5k 2 2o
&9l XIgks Zel (Kot 22l SE3) (St &)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
S 107,087 87,987 19,100
Aot &8 2tel 107,087 87,987 19,100
Kot 2el(Xiste 2tel SE3) 107,087 87,987 19,100
Aot RAl2tel 106,059 87,187 18,872
201 fer= 3| 74,124 73,740 384
01 At 2|l 18,924 18,540 384
OXt4: RNz 228 S
8,980,000 8,980
OXIgts= X122l S 1,920,000& 1,920
OXIgt=2te| 23 =g 100,000 +5& 500
OXt&r& Rl 6270002 x 122 7,524
02 s3=gHl 55,200 55,200 0
OsE2= & HA 3,900,000& 3,900
OAlZ &I Xl 51,300,000 51,300
202 04l 1,200 1,200
01 K01t 1,200 1,200
OXlots DS, MOIL S &
300,000 x22H +23] 1,200
203 =4l 500 500
03 A= PR FZ| 500 500
OXlIot=2ie| RN 500,000 500
207 ARl 22,000 22,000
01 HESHI 22,000 22,000
OXIot= OIS AEH XA 22,000,000 22,000
301 EtE N = 4,235 7,747 A3,512
14 IIEt2d3 4,235 7,747 A3,512
OXlots =2 ZA 242
4,235,000& 4,235
401 AlZHIZ SO 4,000 4,000
01 A28l 4,000 4,000
OXlots &XE Ha=s-
2,000,000 *2JH 2= 4,000
Glla11]] 1,028 800 228
801 OflHIH 1,028 800 228
01 EHolbIgl 1,028 800 228
@l{]:] 1,028,000 1,028




